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efJe<eÙe : ke=âef<e (keâuee mecetn)
Subject : Agriculture (Art Group)

meceÙe : 3 Iebšs] [hetCeeËkeâ : 75
Time : 3 Hours] [Maximum Marks : 75

veesš : meYeer ØeMveeW keâes nue keâerefpeS~

Note : Attempt all questions.

efveoxMe :

(De) ØeMve ›eâceebkeâ 1 Jemlegefve‰ ØeMve nw~ FmeceW oes KeC[ nQ — KeC[ (De) SJeb KeC[ (ye)~ KeC[ (De) ceW

yengefJekeâuheerÙe ØeMve SJeb KeC[ (ye) ceW efjkeäle mLeeveeW keâer hetefle& nw~ ØelÙeskeâ KeC[ ceW 5 ØeMve nQ leLee

ØelÙeskeâ ØeMve hej 1 Debkeâ efveOee&efjle nw~

Instruction :

(A) Question No. 1 is an objective type question. It has two sections – Section (A)

and Section (B). In Section (A) Multiple choice questions and in Section (B) Fill

in the blanks are given. Each section has 5 questions and each question carries

1 mark.
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(Jemlegefve‰ ØeMve)

(Objective Type Questions)

(KeC[ – De)

(Section - A)

mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

Choose and write the correct option :

ØeMve—1. (i) heewOeeW ceW jesie hewâuelee nw :

(De) yeerpe Éeje

(ye) ce=oe Éeje

(me) nJee Éeje

(o) GheÙeg&keäle meYeer

Diseases spread in plants :

(a) By Seed

(b) By Soil

(c) By Air

(d) All of the above

(ii) jyeer keâer heâmeueW nQ :

(De) iesntB

(ye) Ûevee

(me) cešj

(o) GheÙeg&keäle meYeer
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Rabi crops are :

(a) Wheat

(b) Gram

(c) Pea

(d) All of the above

(iii) peue ceW IegueveMeerue efJešeefceve nw :

(De) efJešeefceve A

(ye) efJešeefceve B

(me) efJešeefceve D

(o) FveceW mes keâesF& veneR

Water soluble vitamin is :

(a) Vitamin A

(b) Vitamin B

(c) Vitamin D

(d) None of these
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(iv) uewkeäšesceeršj efmeæevle hej keâeÙe& keâjlee nw :

(De) neF[^esceeršj

(ye) DehekesâvõerÙe yeue

(me) DeefYekesâvõerÙe yeue

(o) FveceW mes keâesF& veneR

Lactometer works on the principle of :

(a) Hydrometer

(b) Centrifugal force

(c) Centripetal force

(d) None of these

(v) cegieea keâer osMeer vemueW nQ :

(De) Demeerue

(ye) IeeIeme

(me) keâÌ[keâveeLe

(o) GheÙeg&keäle meYeer
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Desi breeds of poultry are :

(a) Aseel

(b) Ghagas

(c) Karaknath

(d) All of these

(KeC[ – ye)

(Section - B)

efjkeäle mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

Fill in the blanks :

ØeMve—1. (i) DeevegJebefMekeâ iegCeeW keâer FkeâeF& keâes ............. keânles nQ~

A unit of genetic characters are called ________.

(ii) iegCšme& Ûesve keâer uecyeeF& ............. Heâerš nesleer nw~

The length of Gunter's chain is ________ feet.

(iii) Kewje jesie ............. keâer heâmeue ceW ueielee nw~

Khaira disease is found in ________ crop.

(iv) otjoMe&ve Øemeej keâe ............. meeOeve nw~

Television is ________ mode of extension.

(v) otOe mes oner yeveeves kesâ efueS efpeme oner keâe ØeÙeesie keâjles nQ Gmes .............. keânles nQ~

The curd which is used to prepare curd from milk is called ________.
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efveoxMe :

(ye) ØeMve ›eâceebkeâ 2 mes 6 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 2 Debkeâ DeeJebefšle nw~ Gòej

keâer DeefOekeâlece Meyo–meercee 30 Meyo nw~

Instruction :

(B) Question Nos. 2 to 6 are very short answer type questions. Each question

carries 2 marks. Maximum word-limit of answer is 30 words.

(Deefle ueIeg GòejerÙe ØeMve)

(Very Short Answer Type Questions)

ØeMve—2. heâmeueeW keâer peue–ceebie efkeâmes keânles nQ ? 2

What is water requirements of crop ?

ØeMve—3. iesntB kesâ yeerpe keâe yeerpeesheÛeej kewâmes keâjles nQ ? 2

How to do seed treatment of wheat seeds ?

ØeMve—4. ieye&j yÙetšeFjesceeršj keâe efÛe$e yeveeFS~ 2

Draw a diagram of a Gerber butyrometer.

ØeMve—5. Keerme mes keäÙee leelheÙe& nw ? 2

What is the meaning of colostrum ?

ØeMve—6. jesnt ceÚueer keâer keâesF& oes efJeMes<eleeSB efueefKeS~ 1+1=2

Write any two characteristics of Rohu fish.
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efveoxMe :

(me) ØeMve ›eâceebkeâ 7 mes 10 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 3 Debkeâ DeeJebefšle nw~ Gòej keâer

DeefOekeâlece Meyo–meercee 50 Meyo nw~

Instruction :

(C) Question Nos. 7 to 10 are short answer type questions. Each question carries

3 marks. Maximum word-limit of answer is 50 words.

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—7. kegâBDeeW Éeje efmebÛeeF& kesâ keâesF& leerve ueeYe efueefKeS~   1×3=3

Write any three advantages of Well irrigation.

ØeMve—8. MeekeâveeMeer keâe ØeÙeesie keâjles meceÙe OÙeeve osves ÙeesiÙe keâesF& leerve meeJeOeeefveÙeeB efueefKeS~ 1×3=3

Write any three precautions to be taken in consideration during using

Herbicides.

ØeMve—9. efJe<eÙe-efJeMes<e%e kesâ leerve ØecegKe iegCe efueefKeS~ 1×3=3

Write three main qualities of subject-matter specialist.

ØeMve—10. kegâkeäkegâš Deenej ceW heeveer kesâ keâesF& leerve keâeÙe& efueefKeS~ 1×3=3

Write any three functions of water in poultry feed.
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efveoxMe :

(o) ØeMve ›eâceebkeâ 11 mes 14 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 4 Debkeâ DeeJebefšle nw~ Gòej

keâer DeefOekeâlece Meyo–meercee 75 Meyo nw~

Instruction :

(D) Question Nos. 11 to 14 are short answer type questions. Each question carries

4 marks. Maximum word-limit of answer is 75 words.

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—11. Ûesve Éeje meJex#eCe keâer keâesF& Ûeej meeJeOeeefveÙeeB efueefKeS~ 1×4=4

Write any four precautions of survey by chain.

DeLeJee / Or

Yet–meJex#eCe kesâ keâesF& Ûeej GheÙeesefieleeSB efueefKeS~

Write any four utilities of land survey.

ØeMve—12. meenerJeeue ieeÙe keâer keâesF& Ûeej Meejerefjkeâ efJeMes<eleeSB efueefKeS~ 1×4=4

Write any four body characteristics of Sahiwal cow.

DeLeJee / Or

cegje& YeQme keâer keâesF& Ûeej Meejerefjkeâ efJeMes<eleeSB efueefKeS~

Write any four body characteristics of Murrah buffalo.
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ØeMve—13. jyeÌ[er yeveeves keâer efJeefOe efueefKeS~ 4

Write the preparation method of Rabri.

DeLeJee / Or

KeesDee yeveeves keâer efJeefOe efueefKeS~

Write the preparation method of Khoa.

ØeMve—14. ienjer efyeÚeJeve ØeCeeueer keäÙee nw ? Fmekesâ keâesF& leerve ueeYe efueefKeS~ 1+3=4

What is Deep Litter System ? Write any three advantages of it.

DeLeJee / Or

eEhepeje ØeCeeueer keäÙee nw ? Fmekesâ keâesF& leerve ueeYe efueefKeS~

What is Cage System ? Write any three advantages of it.

efveoxMe :

(F) ØeMve ›eâceebkeâ 15 mes 17 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 5 Debkeâ DeeJebefšle nQ~ Gòej keâer

DeefOekeâlece Meyo–meercee 150 Meyo nw~

Intruction :

(E) Question Nos. 15 to 17 are short answer type questions. Each question carries

5 marks. Maximum word-limit of answer is 150 words.
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(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—15. heâmeue Ûe›eâ kesâ keâewve–keâewve mes efmeæevle nQ ? (keâesF& heeBÛe) 1×5=5

What are the principles of crop rotation ? (Any five)

DeLeJee / Or

heâmeue Ûe›eâ keâes ØeYeeefJele keâjves Jeeues keâewve–keâewve mes keâejkeâ nQ ? (keâesF& heeBÛe)

What are the factors affecting crop rotation ? (Any five)

ØeMve—16. Ûevee keâer Kesleer keâe JeCe&ve efvecve Meer<e&keâeW ceW keâerefpeS : 1×5=5

(De) Jeevemheeflekeâ veece

(ye) kegâue

(me) Yetefce

(o) yeerpeoj / nskeäšsÙej

(F) Ghepe / nskeäšsÙej

Describe the cultivation of ‘Gram’ on the following heads :

(a) Botanical name

(b) Family

(c) Soil

(d) Seedrate / Hectare

(e) Yield / Hectare
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DeLeJee / Or

DeMJeiebOee keâer Kesleer keâe JeCe&ve efvecve Meer<e&keâeW ceW keâerefpeS :

(De) Jeevemheeflekeâ veece

(ye) kegâue

(me) Yetefce

(o) efmebÛeeF&

(F) Ghepe / nskeäšsÙej

Describe the cultivation of ‘Ashwagandha’ under the following heads :

(a) Botanical name

(b) Family

(c) Soil

(d) Irrigation

(e) Yield / Hectare

ØeMve—17. ueBieÌ[er jesie keâe JeCe&ve efvecve Meer<e&keâeW hej keâerefpeS : 1+4=5

(De) jesie keâejkeâ

(ye) keâesF& Ûeej jesie kesâ ue#eCe
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Describe the Black Quarter disease on the following heads :

(a) Pathogen

(b) Any four symptoms of disease

DeLeJee / Or

ieueIeeWšt jesie keâe JeCe&ve efvecve Meer<ekeâeW hej keâerefpeS :

(De) jesie keâejkeâ

(ye) keâesF& Ûeej jesie kesâ ue#eCe

Describe the Haemorrhagic Septicaemia disease on the following heads :

(a) Pathogen

(b) Any four symptoms of disease

efveoxMe :

(Heâ) ØeMve ›eâceebkeâ 18 SJeb 19 oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 6 Debkeâ DeeJebefšle nQ~ Gòej keâer

DeefOekeâlece Meyo–meercee 250 Meyo nw~

Instruction :

(F) Question Nos. 18 and 19 are long answer type questions. Each question carries

6 marks. Maximum word-limit of answer is 250 words.
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(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

ØeMve—18. DevegJeebefMekeâer keäÙee nw ? cesC[ue kesâ ØeYeeefJelee keâe efveÙece leLee he=LekeäkeâjCe keâe efveÙece meb#eshe ceW

efueefKeS~ 2+2+2=6

What is Genetics ? Write briefly about Mandel's Law of Dominance and Law of

Segregation.

DeLeJee / Or

heeohe Øepeveve keäÙee nw ? ÛeÙeve leLee mebkeâjCe keâes meb#eshe ceW efueefKeS~

What is Plant Breeding ? Write in brief, Selection and Hybridization.

ØeMve—19. Oeeve keâer Kesleer keâe JeCe&ve efvecve efyevogDeeW ceWs mecePeeFS : 1×6=6

(De) Jeevemheeflekeâ veece

(ye) kegâue

(me) Yetefce

(o) Ghepe / nskeäšsÙej

(F) jesie (keâesF& Skeâ veece)

(heâ) keâerš (keâesF& Skeâ veece)
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Explain the cultivation of Paddy under the following points :

(a) Botanical name

(b) Family

(c) Soil

(d) Yield / Hectare

(e) Disease (any one name)

(f) Insect (any one name)

DeLeJee / Or

ievvee keâer Kesleer keâe JeCe&ve efvecve efyevogDeeW ceW mecePeeFS :

(De) Jeevemheeflekeâ veece

(ye) kegâue

(me) Yetefce

(o) yeerpe oj / nskeäšsÙej

(F) Ghepe / nskeäšsÙej

(heâ) jesie (keâesF& Skeâ veece)

Explain the cultivation of Sugarcane under the following points :

(a) Botanical name

(b) Family

(c) Soil
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(d) Seed rate / Hectare

(e) Yield / Hectare

(f) Disease (any one name)

——


